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49.  Prom Amperescircuital law for al
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the boundary of the wire and then a linearly
increasing one for the outside region.

50.  Abigcircular coil of 1000 turns and average radius
10 m is rotating about its horizontal diameter at
2 rad s=1. If the vertical component of earth’s
magnetic field at that place is 2x10~3 T and
electrical resistance of the coil is 12.56 £2, then the
maximum induced current in the coil will be :
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51. Choose the correct statement:

Diamond and graphite have two dimensional
network.

Diamond is covalent and graphite isian
Diamond is sp® hybridised and graphite is
sp? hybridized. :

Both diamond and graphite are used as dry
lubricants.

52, Which compound amongst the following is not an
aromatic compound ?
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In one molal solution that confains 0.5 mole of a2

solute, there is

(1) 500 mL of solvent
The IUPAC name of an element with atomic number

(2) 500 g of salvent

(3) 100 mL of solvent

(4) 1000 g of solvent

119 is

(I) ununennium

(2  unnilennium @

(@) unununnium

Which of the following is suitable to synthesize
chlorobenzene ?

(4)  ununoctium

(1) Benzene, Cly, anhydrous FeCl,
(2) Phenol, NaNO,, HCl, CuCl

@) @,HCl O
f
NH,
@ @r , HCl, Heating

Given below are two statements :
StatementI:

Primary aliphatic amines react with HNO, to give

unstable diazonium salts. @

Statement IT:
Primary aromatic amines react with HNO, to form
diazonium salts which are stable even above 300K

In the light of the above statements, choose the most
appropriate answer from the options given below :

(1) BothStatementIand Statement II are correct.

(2) Both Statement I and Statement II are
incorrect.

(3) Statement I is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement ITis
correct.

Gadolinium has a low value of third ionisation
enthalpy because of

(1) smallsize

.(2)  high exchange enthalpy @
() highelectronegativity

(4)  high basic character
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Q3
Polymersis not Correct?

Elastomers have polymer ch
¥ *T Chains he
by weak intermolecular forces *Id togpthay

)

@
(&)

Fibers possess high tensile strength

Thermoplastic polymers are ¢,
repeatedly softening and harq
heating and cooling respectively,

pable of
€ning on

(@) Thermosetting polymers are reusabple,

Match List - I with List - II.
List-1 List-11

(Products formed) (Reaction of carbonyl

compound with)

() NH,OH

(i) RNH;

(¢)  Schiff's base (iti)  alcohol

(d) = Oxime (iv)y HCN

Choose the correct answer from the options given
below :

@ (@), () - @), () - (i), (d)- ()

@  (a)- (), () - i), () - (), (d) - (@)
@  (a)- (@ (b)- (i), (o) - (i), (d) - ()
@  (@- @), b)- (i), (©) - @) () -®

(@ Cyanohydrin

(b)  Acetal

Given below are two étatements :oneis labelled as
Assertion (A) and the other is labelled as Reason

[R).
. Assertion (A):

In a particular point defect, an ionic solid is
electrically neutral, even if few of its cations are

missing from its unit cells. O
l

Reason (R):

In an ionic solid, Frenkel defect arises due to
dislocation of cation from its lattice site to interstitial
site, maintaining overall electrical neutrality.

In the light of the above statements, choose the most
appropriate answer from the options givenbelow':

(1" Both (A) and (R) are correct and (R) is the

correct explanation of (A)

(2) Both(A)and (R)are correctbut (R) is not the
correct explanation of (A)

(3)  (A)iscorrectbut (R)is not correct

@)  (A)isnotcorrectbut (R) is correct
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The given graph is a representation of kinetics o
o
76-

reaction,

Constant temperature T
zero and first order reactiong

e e————

i e
X

The y and x axes for

respectively are

(1) zero order
first order (= t,

(y= concenb‘atidn and x=time)
and x = concentration)
centration and x=time)

(2) zero order (y = con
first order (y=rate constant and
= concentrah'on)
)~ zero order (y=rate and x =concentration),
first order (="t and x =concenration)
@) zero order (y=rate and x = concentration),
first order (y=rate andx=t,)
The pH of the solution containing 50 mL each of
0.10 M sodium acetate and 0.01 M acetic acid is
[Given pK, of CH,COOH= 4.57]
1) 557
@ 357 ;
@ 457 @
@ 257

The Kjeldahl’s method for the estimation of nitrogen
can be used to estimate the amount of nitrogen in
which one of the following compounds ?

NO,
M
d
il
N
e
2
@® '

: | ON.NQ o

Amongst the following which one will have

* maximum 'lone pair - lone pair’ electron repulsions?

(1) CIFy

@ IFs <
L ©
(@) XeF
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@) (:-‘g\’/% 0 pos®
‘ O ,((\0':“ “\g;\s"‘ e
RO RTINS v
v \3\: \\\3\ G Yeb'\\"ﬁ:)
Qe Qo Isothermal
P CORE M:‘ L\Oz\\:\ Ra\(\s\‘\\\p
DN
oo Floor PO T, capital
@ "51"“.;?@“;\\(:. ! ss“"‘.‘g\(gp
enta) akput (G
i v 5 Road, B P W e
frega % | 77 Whatmass of 95% pure CaCO, will be required to
p. fefatEd Sfrﬂﬁm;_z ?f;{{q 0-55 I;’I HCIC e neutralise 50 mL of 0.5 M HCl solution according to
50 mL ! ITEH e ? b Y& CaCOs the following reaction ?
fepr 7R 1 SRR i CaCOyg+2HClyq) > CaCly(oq) + COyq) + 2,0p)
CaCOsy) *'.ZHCI(aq) — CaClyaq)+ COzg) + 2H2°0) [Calculate upto second place of decimal point]
mﬁg%@mﬁmaﬁﬁq 1) 125g
1) 125g @ 132g 7
g; ;2; g @) 365g (=
008 4 950¢g
4) 9.50
) & : 78.  Given below are half cell reactions :
B, A da affEd @ T E - +8H 456" 2+
MnOj +8H"+5e~ — Mn?*+4H,0 N i e R
4 - F1oU ) o
E. e —1 10 v EMI\2+/MX\OI 1-510 V
24 05
1Mn sl 10 +2H Y+ 2¢e”
(20, +2H4+ 2" - R0 pLya e -HO, (B
2 2 2=/ ()
Eo, /0 = + 1223V : 128 -
7 e 4 i TTE TR, MOy T A Willthe permanganate ion, MnOj, liberatet*"
0, F? : water in the presence of an acid ?
() o, Fiff By = +0.287V (1)  Yes,because E, = +0.287V
g)) }'ﬁ"f, HifH !zfm = ~0.287V ()  No, because Ep,, = —0.287V
4 qﬁ'ﬂ‘i“ai E 3V By Yes, because Ep = +2733V
Fil ';7. 4) . Nof because B = —2.733V
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79.

80.

|
|
i gl 81.

20
4 Q T feu T ¥« T A O A (A)
3l et 1 wwoT (R) 3 w9 A fafea R man g
S (A) ¢ 1C), 1, 3 ifs afvfmanda 81
FHAN(R):  1-Cl Y 11 37 | gda e ¢
e feu e A % we ¥, i few e fawedi 4 @
Had 3o I I :

) (%A)ai‘rt(n)ﬁnﬁ%aﬂtm),mmaﬁwm

|

@ (&) R) 3 T TG R), (A) P T@ =S

T T

79.

@)  (A)FAR TG R) T €
@) (A) TR W (R) TR

Given below are two statements : one is labelled a4
Assertion (A) and the other is [abelled as Reason (R),
Assertion (A): ICl is more reactive than I
Reason (R): I-Cl bond is weaker than I-1 bond.
Inthe light of the abovesstatements, cho%% ‘h;e?"’“
appropriate answer from the options giVer DEIOW:
(1) Both (A) and (R) are correct and (R) is the
correct explanation of (A)
but (R) is not the

() Both(A)and (R)are correct
correct explanation of (A):

(@) (A)iscorrectbut(®) is not correct.
rrect.

(4) (A)isnotcorrect but (R) is €0

Which amongst the following s incorrect statement?

Frefafad 3 A FH-T S 2 v :
1 05,0,,0; 3ix 2}‘3;:37%_- (1) The bond orders of O;,szoz and 0%
& 25,2 et Sl o o252,15and 1, respecECHENEE
‘ ’ 11‘5' : |‘ v T d @ < molecule has four elec'tro]:s in its two
2 %;‘?—_l' st H =R “\x{ degenerate'.rmoleculﬂ orbitals.
i AL N\
; e ?I g NP> c\\ﬁ?\\\ H; jon has one electron.
o HamiwmEmRtmt o B e @ )

Z

\ % 3 -
QQ\Y\@i Oj ionis diamagnetic.
\ .G'

o N a ‘ﬁf\‘”“’" A\ - X
(@) OFf I yfagdawa Tl O oot s
@ ™ :ﬁ)\ \cThe incorrect statement regarding chir ality is:
FrEAF T AT FAR: S @ (OFT ) g1 reaction yields 1 ¢ 1 mixture of both

T R
") ﬁmmmmaﬁﬁa’r@?aﬁ
sNzafmﬁmmfawmﬁW
wefid F 8
® g??aﬂm@-{a’(mamﬂﬁamuﬁfﬁ
|
@ Wﬁmmmq‘:ﬁwﬁhm%n
firefafaa § @ o 9 g : 82.
) mu@m%mnaﬁfﬁmmm
TGRS T €|

) Koﬁxﬁaﬁa%ﬁm#@xﬂ%l

@) mu@ﬁaﬁm@?ﬁmfim%ﬁ
F} 3T e B

@) &R g H ST Yaeas AT & |

@%mﬁqﬁ#@ﬁ%m—mwwﬁqﬁ i
? z
0)) wﬁa\ﬁrﬁﬂfﬁmmﬂ%%l

@ fiqy el = B-H 3Ty fdhea fesereid sy

y Enantiomers are superim
images on each other.

enantiomers.

@ The product obtained by Sn2 react'ion 'of
haloalkane having chirality at the reactivesite
shows inversion of configuration.

ble mirror

(4) A racemic mixture shows zero optical
rotation.

Identify the incorrect statement from the following

(1)  Alkali metals react \gj_t_h\ water to form their
hydroxides. e,

(2 Theoxidation numberof K in KO, is +4.

() Ionisationenthalpy of alkali metals decreases
from top to bottom in the group.

(@) Lithiumis the strongestreducingagentamong
the alkali metals.

Which of the following statement is not correctabout
diborane ?

(1) Thereare two 3-centre-2-electron bonds.

AN (v))] T“l;e fe(;urute'm:iborrcl‘sB-H bond q vO centre
_ o electron
ft el 9% W inal
(&) e ﬁ'ﬂg?;\? %ﬁﬁm&iﬁ avenit @) The four terminal Hydroge and the
i : : Noove “ 5\5\\3\ two Boron atoms lie in one plane.
@) qTT sf\m@ﬂ\ﬁc \ q\.\gg\o“ (4) Both the Boronatomsare sp? hybridised.
pente) & ‘;'\'\aspm ©5 :

RQ‘“(“

\




| o

\ g.’;@fi*ﬁl_‘ Qg 1 T fremg) o
- A -1
: w @ T SRS w1 aifirgvum
(:; o @ ﬁq&mﬁm:}a
{

woH (i) et foRd A e
O o v vl
@ mﬂm A A 9 I g
(- @), (©) - (), (9) - (i), () - i)
(- ), ) - ), )~ 6, (- )
(@) - (@), (©) - (), () - (), () - (if)
(@)- (i), ©) - (i), (©) = @) () - Gv)

@

@

&

o SRR SRRz
) SRRl SR
o SEEECRREER() SRR
@ TR SREEMEIG() |

W-~B(wmwra)

30,(g) = 2 05(8)

| s e arutema 3 fag, 298 KWK 3.0
| @S| Ak O, T W Wi 0.040M
% 0, =1 & &h i

59 [5g(1—120)21[As(CN);J FHIUPAC M R :

10—59

A, AM

Q3
Match List - T with List = I1.
List-1 List-11

(@ L ) absorbent for carbon dioxide
(b Na (i) electrochemical cells

(¢ KOH (iii) coolant in fast breeder reactors
@ GCs () photoelectric cell

Choose the correct answer from the options given
below :

1) (a)-(iv), (B - (), () - i), () - @)

@  (a)-(ii), (b) - (), (- (i), (D) - ) @
@) (@)- () (b)- (i), () - (v). (d)- @)

@ @- 0 0)- ) ©- 0=

The [UPAC name of the complex -

(Ag(HO)l(Ag(CN) ) is:

(1) dicyanidosilver(T) diaquaargentate(T)

() diaquasilver(Il) dicyanidoargentate(Tl)

(3) dicyanidosilver(I) diaquaargentate(l)

@) diaquasilver(l) dicyanidoargentate(l)

Section - B (Chemistry)

86. - 30,(g) = 204(8)

for the above reaction at 298 K K is found to be
3.0 %10~ 5. If the concentration of O, at equilibrium
is 0.040 M then concentration of O3 inMis

. nCATEM : i
-63  ploor ADOYY : 9%x10~
E 12"91 : 1331 3 fgjm\:\o, Wiss O‘IC“O?‘) @) 24x10%
g b P et BIPTT  12x108
: (" ;
- frrem aﬁﬁﬂ . 87. Match List-Twith List-1L
» ﬁ-lﬁl‘%ﬁ-ll?ﬁmﬂ : (< List-1 List-T1
- @'“u (Ores) (Composition)
(T ) ( ) (@) Haematite @) FesO4
() Haematite (@) Feagg (t) Magnetite (i) Zn?:
() Magnetite (@) ZntHs (© Calamine (i) Fe .
(© Calamine @ Fels. . (@) Kaolinite (v)  [ALOH. S!eosl
(d) Kaolinite () [AL(OH) 5i05] Choose the correct answer from the options given
faedi ﬁﬁg—gfmgﬁﬁ: Sl below: - L
el i iii), (d) - (iv) -":‘5\ B @-0.0- (i), (©) - i) () ™ (2.
DM @00 0O o 1 &

D @-,0)-00- OO0 &
B  (@- GO0 (C)-(iV),(d)-(“;);;gf A
@ (-)-a).(b)-(im,(c)-(ﬂ),(d)-uﬁ;cs,

0"

of

- F
\J R

n
¢

’ £ )
% &

1 oy @i, ©- 0. @-@¥)

(a) - (i), () - () (©- () (D" (W

& ®
(®)- (@) (®)- (i), (©) - () @-@v)

@)

ks 4/ AR AN
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Q3
88.

89.

22 ¢
AR D aeA Ry §
HUAL:

Y W N, wh afes % | @i
HCl+ ZnCl, % WY 378 aifufranderm gqa:m?ft

mﬁ*’maﬂt 0 Y T AT
SRRy Teliae Yenelell o of faan

88,

ITE@,_,,]

Given below are two glatements:

Statement I:

In Lucag lest, primary, BCCO"d;’I'ylﬂ"'d tertiy,
alcohols are disllngu‘shcd or ll E Dasis of !hqi/,
reactivity with conc. HCI+ ZnCly knownas Lyc,
Reagent.

Statement II: - :
ve and immediag,

= Primary alcohols are most reac ikriseies
s Aewhela Wa aifas aifufiramia a9 # ait produce turbidity atr0o™ temp! eactio,
3 ?{a;g afyad® oW with Lucas Reagent. ;
e % T e & Y v arfufma Hceeh
3 Ishal g ; pove statements, choose themoy
e nfaear W& w W@ § 1 In thelightof thea et

ST FYA appropriate answer from the P g low .

mﬁnm % " A, N feu g fammedi A @ (1) Both Statement Iand Statement Il are correc,
e S g : | @ Both S iement ] and Statement IT are
1)  HUTLARHUA i incorrect.

5 ak = 11 A | ) \9 Statement 1 5 correct but Statement IJ js
@ T S HT I Q1 W& 7 € ] : .
@) HETIFA ¥, W HET I FE T R (4) StatementIis incorrect but Statement ITis

: t
@) HETITE TR E, W HLT T 2| correc ..
: it of the He"ion1is 105.8
: 89. Ifradiusof second Bohr, orbito >
I He * 379 1 TE AR el 1 Fee1 105.8 pm & pm, what is the radius of third Bohr orbit of L2+
A Li2+ 3T F A G e e i ? jon?
1) 1587 pm =
(1) 1587 pm \WLI ( : :
@ 1587pm CORE ACADEMY @ 1587pm |
! 1st&2nd Floor Above D Rakshi®) ~ 1587pm

B 15 im "ol Clinic, Mission jospital (@) 1587 A

4) 1587 ey 2 . :
o Road (Rigsper (b'GQO. The product formed from the following reaction

ﬁﬁﬁmﬁmmﬂaﬁmm%

©/CN (i) LiAIH, H,0

(ii) NaNO, + HCl
(iii) H,O

sequence is

@

N () LiAlH, H,O
(ii) NaNO, +HCl

(iii) H,0

-
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e et N 2.2 3% et
o gt @ N"?‘ ) & A Prefafan 1 wa-
\ P 1"‘1‘({‘ at 3\[‘;W"
A dﬂ' i 1l t ;
M :ﬂ 1ﬁ ﬂ‘ ‘ A
/i,
" 1 H,
N H,
CcHy
@ x
CHy O
(©)] /\/\\/‘kms
CH3 i
Ty 7 CH,
@
H; O

93.

& WY SR 3R IHF 9= Zn/H,0
ﬂ?ﬂ%ﬂimmtmﬁﬁmaﬁu
Fesee s 8 ) AFEHXT

@ AR : R
@ AR e
@) 2-AfuEsgE 28R Des e Ailas
@ ﬁ%z—éa

YA T HKE HAR H KMnO,, SRR
%ﬁaﬁmm%lwaﬁfﬁmﬁ
ﬁmmaawﬁwﬁaﬁ%mg CﬁDEN\Ra
M) +79 +4% ¢ORE p‘;\nme\)r. 5
@ +6¥ +47% @ 00t L ‘\OG
@ +78 +3%F " 3 OV
@ +6¥ +5% U7 oad

202

TH10.0 L AT # 27°C W AT F 64 g ¥ | (v
i & 0, aeH =Zaer wlt %) 1 AR (bar) B
T & e HTE S

(femn T % : R=0.0831 L bar K1 mol-1)
n 25

() 49.6
(B 498
4 49

iz sfufrm A - 3. F fau A # emifiw
?ﬁ:& M % =0t 5 fire % 915 0.001 M | It §)
min~1% afufira o = fegtis §

. 03
91,

Which one of the following is not formed when
acetone reacts with 2-pentanone in the pre
dilute NaOH followed by heating 7

M H4C =z

Sence of

CH,
: CHy
~N
CH CH
v 3 3
O
CH,
CHy o
©) oy /\/‘\/“\ a,
CH,
o CHSW/EN/CHS
92.  Compound X on reaction with O; followed by Zn/
H,O gives formaldehyde and 2-methyl propanalas
_Products. The compound X is ;
e »d}(l) 3-Methylbut-1-ene
) 2-Methylbut-1-ene @
2 ()  2-Methylbut-2-ene
(4)  Pent-2-ene
93.  Inthe neutral or faintly alkaline medium, KMnO,
oxidises iodide into iodate, The change in oxidation
state of manganese in this reaction is from
oWt (1) +7to+4 :
B ) ey @
B) +7to+3
@ +6to+5
94. A 10.0 L flask contains 64 g of oxygen at 27°C.
(Assume O, gasis behaving ideally). The pressure
inside the flask in bar is
(Given R=0.0831 L bar K~ mol-1)
@ 25 -
@ 4986 i,
@) 498
@ 49

95, For a first order reaction A - Products, initial
concentration of A is 0.1 M, which becomes 0.001 M
after 5 minutes, Rate constant for the reaction in

min~1is

1) 19818 -
@ 09212 .;,,
@)  0.4606

1y 13818
2 09212
() 04606
@ 02303

@) 02303

PP -




Q3
90.

97.

100.

24

frferfaa AT & T IUPAC T § :
(@] H

Br

@ 15T RfUeRER-3- A

@ 62T 4- 3T

@) 1-Sm4-AfE.5- TR 3- 3

@  6A4-RfE-2- FARRFNA4-37e

W A Fl emf T Fire, forad 208 K W Frefafaa
Srfufrar At ©

Ni(s) +2 Ag* (0.001 M) - Ni?*+ (0.001 M) +2 Ag(s)

(fem mm R By =105V, 2.30}:: R 00%),
298 KW
0 1.0)385 v CORE ACADEMY
@ 138V + &2nd Floor Above Dr. Ratfsh
@) 09615V ital Clinic, Mission Hospital
&) i Road. Bilaspur (C.G)
i
&) [Ni(H,O)en),2*,

®)  Ni(H0)4(en)]2+ iR -
© [Ni(en),]2* :
F 1 F fo e svaiiya st w1 we €
gg §g>%>2§; CORE ACADH
2 o 1St& i Floor At f]

6l e el
@ ®>A»>0 @ ; g{‘; "é;,azpu‘r («
mmﬁ:ﬁam(f«)mﬂé%ﬁmfaﬁm
s PR EaE3.608 X 10~8 cm & | FIR H1 97&
8.92 g cm~3 ¥ HIW F THNY] FoqHA SR
Hifag |

(1) 631u

(2 3155u

(3) 60u

(4) 65u

HEH & HFAEE] 51 B A weuur ¥ frefafaa §
H fergat ufeafa & g 9fs & 9 2

(@) wEEzA

) A

© T

(d) eEEEA TG

a1 fag 7 fased # 4 wad sfaa sw gfi ;

(1) Fad (a),(d)

@ %A (a), (b) (d)
@)
@

& (b), (c), (d)
& (a), (c), ()

96.

100.

The correct IUPAC name of the following compoung

is:
. @

(1)  1-bromo-5-chloro-4-methylhexan-3-ol
(2)  6-bromo-2-chloro-4-methylhexan-4-ol
(3) 1-bromo~4—methyl-5-chlorohexan-3—ol
(4)  6-bromo-4-methyl-2-chlorohexan-4-ol

OH

97.  Find the emf of the cell in which the following
reaction takes place at 298 K
Ni(s)+2 Ag* (0.001 M) - Ni?* (0.001 M) +2 Ag(s)
(Given that E_y =105V, 2303RT _ g.059" a8
298 K) ‘
(1) 10385V
@ 1385V Bonus
@) 09615V ; = \
@ 105V | & er\-osv

98.  Theorder of energy absorbed which is responsible
for the color of complexes
(A)  [Ni(H,0),(en),]2*
®)  [Ni{HO)(en)2* and
©  [Ni(en)s]*
is

EWRYaks g (4)>(B)>(©) @

ool ©>®>@)

A~ B (©>(A)>(®B)

S @ ®)>@>©

33. Copper crystallises in fcc unit cell with cell edge
length of 3.608 X 10~8 cm, The density of copper s
8.92 gcm 3. Calculate the atomic mass of copper.
(1) 63.1u
@ 3155u <
@) 60u et )
4 65u

The pollution due to oxides of sulphur ets
enhanced due to the presence of : i,

(@)  particulate matter

()  ozone N )
() hydrocarbons /
(d)  hydrogen peroxide

Choose the most

appropriate answer from the
options given below :

(M (@) (d)only

@) (@) (b), (d) only
@) (b).(c) (d) only
@ (), (). (d)only

oo




